VO¢ A E

Antal procent (antal saknas)

x 80% = 2.4

x 50% = 6.5

x40% = 21.2

x70% = 19.6

x 50% = 15.5

x70% = 57.4

x20% =194

x 40% = 2.8

x30% =21.3

x90% =9.9
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Datum:

x50% =5

x90% = 51.3

x 50% = 35

x 40% = 8

x50% = 11.5

x30% =174

x70% = 18.2

x 80% = 68

x 40% = 30.4

x20% =2

Poéng:
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VOe A H

Antal procent (antal saknas)

namn:

3x80% =24

13 x50% = 6.5

53 x40% = 21.2

28 x70% = 19.6

31 x50% = 15.5

82 x70% = 57.4

97 x20% =19.4

7x40% = 2.8

71 x30% = 21.3

11 x90% = 9.9

Datum: Poéng:

10 X 50% =5

57 x90% = 51.3

70 x 50% = 35

20 x40% = 8

23 x50% = 11.5

58 x30% = 17.4

26 x70% = 18.2

85 x 80% = 68

76 x 40% = 30.4

10 x20% = 2
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